MATH

_1_ Equal Groups Multiplication ™%X
- Word Problems

@

There are 4 tables. 6
children are on each table.
How many children are
there in total?

h ¢ =

There are  children in
total.

How many wheels are
there in total in 9
bicycles?

X =

There are  wheels in
total.

There are 10 mangoes in

a bag. 7 bags are there

in total. How many
mangoes are there in total?

X =

There are mangoes in
total.

@ There are 6 eggs in a tray.

8 trays are there in total.
How many eggs are there
in total?

)4 =

There are  eggsin
total.

How many total sides
are there in 5 triangles?

X =

There are_ trianglein
total.

There are 5 fishes in a
pond. 5 such ponds are
there in total. How many
fishes are there in total?

X =

There are  childrenin
total.
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Answers

There are 4 tables. 6

children are on each table.

How many children are
there in total?

4 X 6 = 24

There are 24 children in
total.

How many wheels are
there in total in 9
bicycles?

2 X 9 = 18

There are 18 wheels in
total.

There are 10 mangoes in
a bag. 7 bags are there
in total. How many

mangoes are there in total?

10 % 7 = 70

There are 70 mangoes in
total.

@ There are 6 eggs in a tray.

®

8 trays are there in total.
How many eggs are there
in total?

6 X 8 = 48

There are 48 eggs in
total.

How many total sides
are there in 5 triangles?

3 X 5 = 15

There are 15 triangle in
total.

There are 5 fishes in a
pond. 5 such ponds are
there in total. How many
fishes are there in total?

5 x 5 = 25

There are 25 childrenin
total.



